RBEHRFEERTGA)

UN=2L 2

=RE BHTE | BHOE o BT 2

- e | EEE%) | T
ENHAHERE 28 41 -13 -31.7
SHEZRE 43 68 -25 -36.8
SMEERE 65 69 -4 -5.8
INEERE 14 15 -1 —6.7
SRt ERE 241 197 44 22.3
SNEERE 279 322 -43 -13.4 1066
IRHEZERE 77 94 -17 -18.1
SIAERE 41 46 -5 -10.9
ABERE 155 188 -33 -17.6
EREmE 22 25 -3 -12
—EERE 42 44 -2 -45
BEEFERE 46 53 -7 -13.2
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ENHAHhERE 0 0 0 0
SHEERE 1 0 1 -
SNEZERE 0 2 -2 -100
INGEERE 1 0 1 -
SmitERE 2 1 1 100
SREERE 0 0 0 0 8
IRHEZERE 2 1 1 100
SMAERE 0 1 -1 -100
ABERE 1 3 -2 -66.7
BLEERE 0 1 -1 -100
—EERE 0 2 -2 -100
BEEFERE 0 0 0 0
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ENAHhERE 43 50 -7 -14
SHTERE 74 94 -20 -21.3
ENEERE 75 79 -4 -5.1
INGTRE 14 17 -3 -17.6
SmitERE 286 244 42 17.2
ENEERE 329 404 -75 -18.6 1995
IRHERE 81 108 -27 -25
SRAERE 52 54 -2 -3.7
ABEERE 188 222 -34 -15.3
ELERE 27 29 -2 -6.9
—2ERE 47 54 -7 -13
BEFTERE 61 68 -7 -10.3




